
 

 

 پاسخ نمونه سوالات ریاضی نهم ) تیزهوشان (

1) 

𝐵 = { 
𝑥 + 1

2𝑥
│𝑥 ∈ 𝑁, 𝑥 ≤ 5 } = { 1,

3
4

,
2
3

,
5
8

,
3
5

 } 

 

2) 

{ 7 , 77, 777 , 7777 , … } = { 7 ×
11𝑥 − 1

9
│𝑥 ∈ 𝑁 } 

 

3) 

255 + 1 = 252 = 28 → 𝑛 = 8 
=

𝑛 (𝑛−1)

2
=

8×7
2

=  تعداد زیر مجموعه های دو عضوی 28

 

4) 

{ 
3𝑥−1

92𝑦 │4𝑦 − 𝑥 = 3 } =
3𝑥−1

34𝑦 = 3𝑥−4𝑦−1 = 3−3−1 = 3−4 =
1

81
 

 

5) 

|3 − √3| − |1 − √3| + 3√3 = 3 − √3 + 1 − √3 + 3√3 = 4 + √3 
 در نظر بگیرید. 4دقت شود، مبداً را 

 

2) 

A =
1
2

+
1

22 +
1

23 + ⋯ +
1

21395 

- 

2A = 1 +
1
2

+
1

22 + ⋯ +
1

21394 

A = 1 −
1

21395                                         ⇒ A =
21395 − 1

21395  

 

7) 

1/3𝑏̅̅ ̅ =
𝑎

11
 

3𝑏

99
=

𝑎

11
→

3𝑏

9
= 𝑎 → 3𝑏 = 9 × 𝑎 

𝑏 = 2     ,     𝑎 = 4     → 𝑎 + 𝑏 = 11 
 

8) 
3

2 × 4
+

3
4 × 2

+ ⋯ +
3

98 × 111
=

3
2

 ( 
1

1 × 2
+

1
2 × 3

+ ⋯ +
1

49 × 51
 ) =

3
2

 ( 
1
1

−
1
2

+
1
2

−
1
3

+ ⋯ +
1

49
−

1
51

) = 
3
2

 ( 
1
1

−  
1

51
 ) =

3
2

×
49
51

=
147
111

 

 



 

 

9) 

1/2222 … 
+ 
1/3111 …. 
1/5333 …           → 1/33̅ 

11) 
−1
2

+
1
2

×
1
3

÷
1
2

+
1
4

=
−1
2

+
1
2

× 2 +
1
4

= ( −
1
2

 ) + 1 +
1
4

=
−1 + 2

2
+

1
4

=
1
2

+
1
4

=
3
4

 

 

 


